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. Answer any ten questions: ‘ Ix10

i) What is peridern? i e

ii) What is sigma factor? Bt w1189 5o

iii) What is intron? g4 ¢

iv) What is atactostele? siGr3i5i &y

v) Name the initiation codon. AREF (FEF €a N @

vi) What is monosomy? Giifsr o

vii) Mention the function of m-RNA. m-RNA e =121

viil) What is split gene? Split &= o

ix) What is poliploid? #fereiEs e

x) What is annual ring? 35 9

xi) What is mechanical tissue? afgz <=1 o

xil) What is Korper? @i &9

xv) What is sap wood? mi» Ta 9

xiii) What is replicon? @R b9

xiv) What are the different types of inversion? 3eis=i4 3 2=
2. Answer any two questions:

1) Describe Tunica-Corpus theory. B%f=n waoi1 ©g wfai w1

ii) Describe different types of structural changes in chromosome.
ST €7 RSN 2R oomerS ARRSH Sl 9

iii) Write short notes on structure of nucfear membrane. WSZe W@ o SEHA 41
iv) Write short notes on transposon. Froaiisi A= =1 34

v) Describe epistasis with suitable example. Swigz 72 «PrSEm =6 39
3. Answer any three questions:

1) Describe the secondary growth in Tecoma. Write short notes on mechanical tissue.

Tecoma Bfen ax 017 & <G 31 [ 91 T W01 3911
ii) Classify stele. Mention the evolution of stele.

e e w1 Fofm Ry seis= <)

iii) Describe the process of replication in prokaryotic cell.

eRelT @R @R ws w337

iv) What is point mutation? Describe different types of translocation.

HES OGN T ety Rfen 2@ Fromema == st SiEsal 34

5x2

10x3

v) Describe secondary growth in dicotyledonous stem. What do you mean by paracytic stomata?



BRed Bfewa o e A T syamiahe oy
Module IV

4. Answer any ten questions: 1x10
i) Mention the name of the family of Coffee. fF @7 WGET AN I

ii) What is action specira? Sure=I (Aaar e

iii) What is senescence? GTb= fae

iv) Write the uses of Ipicac P a7 IR ERI

v) Define microclimate. WRGPIRED 7 e FH

vi) What is in situ conservation? TG vieaEe {9 ’
vii) Define transamination. BTSSR FIF e

viii) What is vernalization? IFPTA FLF W2

ix) Mention the products of glycolysis. aECTEEPe g G A T

x) What is phloem loading? GPIE e FHE IAE?

xi) Write one function of ABA. R Sibed wels e I

xii) What is genetic diversity? s (Ao FIF WA

xiii) Write one example of ligase enzyme. PR Rl aE I CEERGRT

xiv) What is apoenzyme? sileene 7

xv) Write importance of ginger. Sl & IIL® weH {99

5. Answer any two questions: 5x2
i) What is phytochrome? Mention the role of phytochrome in flowering.
RGN 52 WWW@?WWW|

i) Write the importance of CAM plant. What is xylem cavitation?

CAM S w7y L aiEEs Ffewr e

iii) Describe the different stages of hydrosere.

wiagPifa Rifen et SeEpal F

iv) Describe the process of photophosphorylation.

B TERIREIN @F S el F

v) Write notes on amino acid synthesis.

SR SIS SREE T RS STl T

6. Answer any three questions: 10x3
i) Write the scientific name, family, paits used and uses of the following plants- wheat, cotton,
sugarcane, cabbage, neem.

e Signefn Rerrrs 95, P, TGS S 6 R EL A, FE, o, G, F

i) Describe the role of auxin and gibberelic acid.

w3 ¢ R S g3 g Sl 9

iii) Describe Kreb’s cycle. Describe briefly- transportation of water through xylem vessel.

(@ 5 S IR SEAG A wiizEw AR e aEE SR 2wR el

iv) Describe the mechanism of opening and closing of stomata. Describe the role of cytokinin.
WW@W:@W%WWWMWWW

v) Mention the adaptive features of hydrophytes, Describe briefly phytoremediation.
SBORPIEEA F SIS 1S (g S FIEBIERCE T A STl
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>

@ w57 Te1 Me (Answer any ten) :- | $X30=%0

F) APTFETA 2 What is emasculation?

R
Q)
)
€)
5)

~9is F1? What is spawn?

fifSam 3fics S @R? What do you mean by Median? >
Ti- Zehe 12 What is Ti-Plasmid?

Toad stool S ? What is Toad stool?

VAM &2 What is VAM?

%) BOHUAER $ 2 What is totipotency?

o) Gene cloning 2 What is gene-cloning?
) Nif- &9 2 What is Nif-gene?

«®) Vector ¢ What is vector?

5)
L)

Restriction endonuclease 1 ? What is restriction endonuclease?
Micro-propogation Jf#1te S (J1dt 2 What is micropropagaton?

T) Trap-crop IS F (@172 What do you mean by Trap-crop?

G)
)
Y

Red data Book 3feTt® S (@12 What is Red-data Book?
@0 Bfen SRS Bvizad s | Give one example of plant-tarpinoid?
i & 2ea Tea wie (Answer any two question) - EXR=30

) G AR ZAE Cyanobacteria-4a3 792} | Use of cyanobacteria as biofertilizer.

)
0))
9 |

Pharmacognosy-43 S @&g | Objectives and importance of pharmacognosy.
Gene cloning #%f% | Process of Gene cloning.
@ @& 540 2re Teg s ¢- (Answer any three questons) VXS 0=00

) Bfen @t FaEEe S FuEs ¢ waie T Qs T e 39 |

9)

Q)

)

Write a note about biological control and aplication of fungicides to control plant
diseases. ¢+e=so
o @ fRam et o W woret 9 | s 90 41 e @3 Seifhy Bad 91
Compear mass-selection and pureline selection, write the merits and de-merits of
pureline selection. 8+u=50
Pleurotus-43 B #I&f% 7% | Pleurotus-43 4y @« SITAGA 7|

Write a note about cultivation process of poleurotus. What are the food values of
pleurotus sp? v+8=30
‘Goodness of fit’ A% A & Chi-square (X°) A& 96 39 | (ATBIRPE FE %S
A I “

Describe chi-square (x?) test method for ‘Goodness of fit' test. Briefly describe
protoplast culture method. @+e=50
(T e w3y afeice < (i ¢ Sfgners RSy aia N,- T (T Relis 7 30t 93 @3
IR IR SEY F |

What do you mean by secondary metabolites? Describe different types of Nitrogenus
secondary metabolites of plants. Write their uses. HEHO=Y0
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Botany
Group - A
Time: 4Hrs .M - 100
1. Answer the following:

(a)Explain why the water potential of cell is usually negative?(b)Name the plant part from where
Brassinosteroid was first identified (¢) What do you meant by soil plant atmosphere continuum concept.(d)
Comment on the dual activity of RUBISCO.(e) Write the structure of chlorophyll b (f) Mention the role of
‘critical day length’ in flowering. 2+24+2+2+1+1

2. Answer any two of the following: 5X2

(a) Describe in brief the mechanism of phloem loading and unloading.(b) Point out the amphibolic role of TCA
cycle.(c) Describe the role of blue light in stomatal movement.(d) Mention the role of ethylene in fruit ripening,.

3. Answer any two of the following:

(a) Crassulacean acid metabolism is an echo physiological adaptation of the desert plant — justity the statement
with biochemical details. How do CAM plants differ from C4 plants? 10+5

{b) What is the difference between dormancy and quiescence? Discuss the different methods of breaking seed
dormancy. Briefly describe the biochemical changes associated with the process of seed germination. 4+5+6

(¢) Why oxidative pentose phosphate pathway is called a shunt pathway. Schematically describe the pathway
giving structure of substrates and products and name the enzymes involved in each steps. Mention the
significance of this pathway. 2+10+3

(d) Write short notes on following: 5X3

(i) Write a notes on GS/GOGAT cyele(ii) Role of phytochrome in flowering.(iii) Plant responses towards the
salinity.

-Group - B
4, Answer the following:
(a) What are the oligosaccharides? Give an example.(b)Why pH of 7 is considered as neutral pH? (c) What is
proenzyme? (d) Name one sulphur containing amino acid.(e) What is buffer name two major buffer containing
components.(f) Name two metalloenzymes. . 242+2+1+1+2

5. Answer any two of the following:

(a) Define saturated and unsaturated fatty acid with examples and mention important biological functions of
phospholipids. 342

(b) Explain the rigidity of the peptides bond. Explain the itch of the o — helix. How the helix structure is
stabilized. 3+2
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(¢) What is G — protein? Mention its role in signal transduction pathway. 2+3

(d) Give a comparative account of B and Z forms of DNA, 5

6. Answer any one of the following:

(a)(i) Define symport and antiport with examples. Discuss between active and passive ion uptake mechanism in
plants. 3+5

(i) What is redox potential? Explain it with the help of electrochemical gradient, » 2+3

(iii) "A Molecule of reduced NAD yields 2.5 molecule ATP while that of reduced FAD yields only 1.5
molecules of ATP” — Explain 2

(b) What do you mean by phosphorylation? Distinguish  between oxidative phosphorylation and
photophosphorylation with illustration. Describe in brief the mechanism of ATP synthesis in mitochondria in
light of chaemiosmotic model. 2+3+10

7. Mention the source plants, parts used and use of the following pharmacologically active constituents:
3X5

Vinblastin, Alonin, Digitoxin, Catechin and Quinine.
Or, Write short notes on 3X5
(a) Protective action of flavonoids against pathogenic microbes and herbivores. (b) Organoleptic

evaluation of drugs. (¢) Classification of drugs on the basis of chemical constituents and therapeutic
effects with example.
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(Marks - 50)
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1. Answre the following questions:

(a) What are monopolins? 2
(b) What is NOR? ' 2
(c) What is MPF? Mention its functions 2
(d) What is back cross? 1
(e) What is student’s 't" test? Give formula 2
(f) Mention two types of DNA markers used in molecular breeding. 1

2. How is the spindle apparatus formed during celt division? Illustrate the dynamics of chromosome movement
during anaphase with reference to anaphase promoting complex (APC). Why are the chromosomat terminal
dose not digested by exonuclease activity? ' 5+8+2

Or, Write short notes on the following 5X3
(a) Structure and function of nuclear pore complex
{b) Organellar DNA

(c) Ribosome biogenesis

3. Answer any two of the following:

(a) Mention the use of DNA marker 5
(b) Explain how male sterility can be utilized in plant breeding 5
(¢) Explain probability and enumerate the laws of probability with suitable example 5
(d) According to height, 200 jute plants can be grouped as follows: 2+3
Frequency Class value

15 60

25 62

65 64

50 66

40 70

5 76



